Mini Flow (Intraday)

Example of going Long

Entry:



Enter when the Nifty takes out the 5 min bar + Filter 





(Rs.9)

Initial Stop loss:

Low of 1st bar - Filter (Rs.9)

TSL:



When the 2nd candle makes a HH & HL, move stops to 





the low of the 2nd candle – Filter (Rs.9). So on and so 





forth
1 Add:



2nd candle HH + Filter (Rs.9)





Above WRB

Stop and Reverse:

If TSL – Filter (Rs.9) gets hit, short

Profits:



Exits:



When TSL – Filter (Rs.9 gets hit)

Saint has mentioned the following:
PROFITS: If long 6 lots, with a stop loss Rs.50 away, once we get a Rs.50 move, will take off 2 lots . . . . unless we get a blast off move. Then I am sitting pretty with 10 lots till the end of day.

My Query

If we are long with 6 lots and take off 2 lots on a Rs.50 move, how is that we are left with 10 lots?
60 min Flow (Positional)

Example of going Long

Entry:



When the Nifty takes out the previous pivot high

Initial Stop loss:

Previous pivot low + Filter (Rs.15) 
3 Adds:


-> On Rise of Rs.7




-> Previous pivot high being taken out





-> Above WRB 
3 more Adds:


When daily pivot high is taken out

TSL:



Previous higher pivot low + Filter (Rs.15)
Reverse & Short:

->When the previous pivot low gets taken out + Filter 





(Rs.15)




-> If we have a vertical move, then keep the low of the 

     



previous 2nd bar – Filter (Rs.20)

Trading Gaps

Gap in our favour:

Add on break of high of 5 min bar + Filter (Rs.7)

Gap against us:

Short on break of low of 5 min bar – Filter (Rs.20). SL is 





5 min bar + Filter (Rs.20) 

